- n1"OxN
'7a s —— 1202 :01121710D

CH-8.8 carbon steel / stainless steel A2 :NT779 210
. 10.9/8.8/6.8/56:NT79 pTiN »
— '- . e
== ———
CH-8.8E CH-TO CH-A2

CH-PL CH-PI & CHINB

lr( ."-‘ [ b
8 CH-INN CH-GA o CH-AR
/ .
CH-GF CH-AF CH-GF A2
Or— b A
CH-AF A2 CH-ES CH-GF

European
Approval

(30-2[1p2) TTI2 JA1Y'7 D'ONIY N'72D

M16 M12 M10 M8 M6 CH88py

20 16 12 10 8 mm | [alyn IR
50.8 34.6 23.3 26.9 18.0 21.9 13.7 13.9 Nrk,cone

* * * * * * 11.0 6.1 Nrk,pull no'7y T
85.9 49.6 496 | 343 | 343 | 191 191 | 10.1 Nk steel =
62.8 33.7 33.7 23.2 23.2 14.6 14.6 8.0 kN Vik nm _E
233 16.7 10.7 10.7 8.0 14.6 7.3 4.0 Nrd N7y o
502 | 270 | 270 | 186 | 186 | 117 | 117 | 64 Vi mm on oy £
16.7 11.9 7.6 7.6 5.7 10.5 5.2 29 Nrec N7y X710 only
35.9 19.3 19.3 133 13.3 8.4 8.4 4.6 Vrec nm v ony

90-170 75-140 70-150 50-115 45-80 L 1120 IR

110 85 70 75 60 65 50 55 h1 751010 NI PRy

84 65 50 55 42 48 35 40 heff [aiyn mpnn poiy

20 16 12 10 8 do |ID22 NIT'P DIP =
168 130 130 110 110 100 100 100 | MM | hy min ‘780D 102 Q1Y =

18 14 14 12 12 9 9 7 TONINN DINTXN T MPNNT DIP 2
126 98 75 83 63 72 53 60 Copt [ID1N NXPN *7XD'DOIX PNID E
110 85 85 70 70 65 65 50 Cmin [ID2N N¥PR '7XDM PN =
252 195 150 165 126 144 105 120 Sopt 0221y 2 '7XD'D9IX PN

110 85 85 70 70 65 65 50 Smin D210 2 '7X'0 PN

120 60 60 35 35 20 20 7 Tinst MpNN7 X700 DINN

ENV 1992-4:2018 |pn '97 D'avinn ,0'pNInN NIYswA 71,0”0 15 72 NIN9Y7 |IT 71120y ,30-1 |I0212 TT1A 21y '97 0'™ID D1IN)

J2Iyn 7W 'ROIX PN 197 |21y 112N 7W2'7 0TIR (1020 onip 7wd *




nN'w n7i20N [Pnn7i20n 1U9IX 7¢J N'7120N
mm no'7v mm N9y mm N9y nT
n’pn v
Virec N rrec Vid Nrd Vik Nrk
kn kn kn kn kN kn mm
M6 x 45 @8 ACHT08C
3.40 2.60 4.80 3.60 6.00 5.50 M6 x 60 @8 ACHTOSL
M6 x 45 @9 ACHT09C
M8 x 60 @10 ACHT10C
M8 x 80 @10 ACHT10L
6.00 470 8.50 6.60 12.70 10.00
M8 x 60 @11 ACHT11C
M8 x 80011 ACHT11L CH-TO
M10x70 @12 ACHT12C -
M10x 100 @12 ACHT12L l R
8.00 6.60 11.20 9.30 16.70 16.70
M10x70 @14 ACHT14C
M10x 100 @14 ACHT14L
M12x80 @16 ACHT16C
9.80 8.10 13.70 11.40 20.60 20.60
M12x 110016 ACHT16L
26.90 14.60 37.60 20.50 47.10 30.80 M16 x 110 @20 ACHT20C
34.40 14.30 48.10 20.00 72.30 36.10 M20 x 130 @25 ACHT25C
M6 x 45 @8 ACHT8808C
3.90 2.60 5.50 3.60 8.30 5.50
M6 x 60 @8 ACHT8808L
M8 x 60 @10 ACHT8810C
6.00 4,70 8.50 6.60 12.70 10.00 CH-88
M8x80@10 ACHT8810L o
M10x70@12 ACHT8812C
8.00 6.60 11.20 9.30 16.70 16.70 ;l_g_m_
M10x 100 @12 ACHT8812L —
M12x80 @16 ACHT8816C
9.80 8.10 13.70 11.40 20.60 20.60
M12x110@16 ACHT8816L
29.30 14.60 41.10 20.50 61.70 30.80 M16x 110 @20 ACHT8820C
420 2.10 5.90 2.90 7.40 5.30 M6 x 40 @8 ACHT8808E CH-88E
=
4.20 290 5.90 410 7.40 7.50 M8 x40 @10 ACHT8810E |
M6 x 45 @8 ACHTA208C
M6 x 60 @8 ACHTA208L
3.20 2.60 4.50 5.53 7.00 8.30
M6 x 45 @9 ACHTA209C
M6 x 60 @9 ACHTA209L
M8 x 60 @10 ACHTA210C
M8x 80 @10 ACHTA210L
5.80 4.70 8.20 5.28 12.80 9.50 CH-A2
M8 x 60 @11 ACHTA211C
M8 x 80 @11 ACHTA211L N ——
M10x70 @12 ACHTA212C l-‘. =
M10x 100 @12 ACHTA212L
8.00 6.60 11.20 7.78 16.70 14.00
M10x70 @14 ACHTA214C
M10x 100 @14 ACHTA214L
M12x80 @16 ACHTA216C
9.80 8.10 13.70 8.89 20.60 16.00
M12x110@16 ACHTA216L
25.10 14.60 35.20 13.33 54.90 20.00 M16 x 110 @20 ACHTA220C




nN'w n7120N [an n7120n 1U9IX 7¢J N'7120N
mm no'7v mm no'7v mm N9y nTn
n"pn alJ}
Virec Nr,rec Vid Nrd Vik Nrk
kn kn kn kn kn kn mm
M6 x 45 @8 ACHTPLO8C
3.90 2.60 5.50 3.60 8.30 5.50
M6 x 60 @8 ACHTPLOSL CH-PL
M8 x60 @10 ACHTPL10C
6.00 4,70 8.50 6.60 12.70 10.00 i B
M8 x 80310 ACHTPL10L ..‘_;_ad__
M10x70 @12 ACHTPL12C
8.00 6.60 11.20 9.30 16.70 16.70
M10x 100 @12 ACHTPL12L
M6 x 45 @8 ACHTPIO8C
3.20 395 4,50 553 7.00 8.30
M6 x 60 @8 ACHTPIO8L CH-PI
M8x60 @10 ACHTPIT0C
5.80 3.70 8.20 5.28 12.80 9.50 -
M8 x 80310 ACHTPITOL "'_'_-b
M10x 70 @12 ACHTPI12C
8.00 6.60 11.20 9.30 16.70 16.70
M10x 100 @12 ACHTPI12L
M6 x 45 @8 ACHINBO8C CH-INB
2.10 2.60 3.00 3.60 5.00 5.50
M6 x 60 @8 ACHINBOSL
M8 x 60 @10 ACHINB10C l > —
3.90 4,70 5.40 6.60 9.10 10.00 ?
M8 x 80 @10 ACHINB1O0L o
M6 x 45 @8 ACHINNO8C CH-INN
2.10 2.60 3.00 3.60 5.00 5.50
M6 x 60 @8 ACHINNOSL
M8 x 60 @10 ACHINN10C ‘—*—""—
3.90 4,70 5.40 6.60 9.10 10.00
M8 x 80 @10 ACHINNTOL &
M6 x 45 @8 ACHG08C
- 0.70 - 1.00 - 1.50
M6 x 45 @9 ACHGO09C
M8 x 60 310 ACHG10C CH-GA
- 1.40 - 2.00 -- 3.00
M8 x 60 @11 ACHG11C
M10x 70 @12 ACHG12C
- 2.30 - 3.30 -- 5.00
M10x 70 @14 ACHG14C
- 3.10 - 4,00 - 6.00 M12x 80 @16 ACHG16C
M6 x 45 @8 ACHA08C
- 0.70 - 1.00 - 1.50
M6 x 45 @9 ACHA09C
M8 x 60 @10 ACHA10C CH-AR
- 1.40 - 2.00 - 3.00
M8 x 60 @11 ACHA11C
M10x70 @12 ACHA12C
- 2.30 - 3.30 - 5.00
M10x 70 @14 ACHA14C
- 3.10 - 4,00 - 6.00 M12x80 @16 ACHA16C
- 0.80 - 1.10 - 1.60 M6 x 45 @8 ACHGF008C CH-GF
- 1.50 - 2.10 - 3.10 M8 x 60 @10 ACHGFO10C Tk - .
- 2.70 - 3.90 - 5.00 M10x 70 @12 ACHGFO12C g
- 2.00 - 2.80 - 420 M6 x 45 @8 ACHAFO08C CH-AF
- 476 - 6.67 - 9.50 M8 x 60 @10 ACHAFO10C O M—
- 6.65 - 9.31 - 12.70 M10x 70 @12 ACHAFO12C '
- 0.90 - 0.90 - 1.70 M6 x 45 @8 ACHGA208C CH-GF A2
- 1.70 - 1.70 - 3.10 M8 x 60 @10 ACHGA210C r _a =
- 3.10 - 3.10 - 5.80 M10x 70 @12 ACHGA212C
= 2.00 = 2.20 = 4.20 M6 x 45 @8 ACHAA208C CH-AF A2
- 475 - 5.20 - 9.50 M8 x 60 @10 ACHAA210C Op' -
- 6.64 - 7.00 - 14.00 M10x 70 @12 ACHAA212C iy




nN'w n7i20N [Pnn7i20n 1U9IX 7¢J N'7120N
mm no'7v mm N9y mm N9y nTn
n’pn v
Virec N rrec Vid Nrd Vik Nrk
kn kn kn kn kn kn mm
M6 x 45 @8 ACHE08C
2.00 2.60 2.80 410 3.60 5.50
M6 x 45 @9 ACHE09C
4.70 M8 x 60 @10 ACHET0C
5.20 M8x80@10 ACHE10L
3.70 520 6.67 6.60 10.00 CH-ES
3.70 M8 x 60 @11 ACHET1C
5.20 M8x 80311 ACHE11L i l._,_mq_
M10x70@12 ACHE12C
M10x 100 @12 ACHE12L
5.90 6.65 8.30 9.31 10.40 16.80
M10x70 @14 ACHE14C
M10x 100 @14 ACHE14L
-- 1.40 - 2.00 - 3.00 M8x 115310 ACHGE10 CH-GE
el
-- 230 -- 3.30 -- 5.00 M10x 135 @12 ACHGE12 N =




D'D”pnI NITN

L
7:--,"--- bl i el b laaly) hab il b Tl il
tfix
dn
S
N L
hmin
CH-TO
pnn | pnn | ninay | pow oIy poy | oy | X oiom | NTp o | oIp
Ynap [adman | Town | mpna | mpna | nmp | yman | pva | mpna | 7enea | onmp
nxp Ty nmyn 209X TNXIN
joan T ’pn
Cmin Smin tfix (mm) | hef (mm) | hnom h1 (mm) hmin L (mm) Tinst df (mm) | do (mm)
(mm) (mm) (mm) (mm) (Nm)
5 45 9 8 M6 x 45 @8 ACHT08C
20 60 M6 x 60 @8 ACHTO8L
41 41 30 39 45 100 10
5 45 10 9 M6 x 45 @9 ACHT09C
20 60 M6 x 60 @9 ACHTO9L
5 60 . 10 M8 x 60 @10 ACHT10C
27 80 M8x 80 @10 ACHT10L
54 54 40 51 60 100 20
5 60 " . M8 x 60 @11 ACHT11C
27 80 M8x 80 @11 ACHTT1L
5 70 " H M10x70@12 ACHT12C
32 100 M10x 100 @12 ACHT12L
65 65 48 65 75 100 35
5 70 6 1 M10x 70 @14 ACHT14C
32 100 M10x 100 @14 ACHT14L
5 80 M12x80 @16 ACHT16C
74 74 55 70 80 110 50 18 16
37 110 M12x 110016 ACHT16L
97 97 15 72 9 105 145 110 140 22 20 M16x110@20 | ACHT20C
120 240 25 80 130 160 130 240 27 25 M20 x 130 @25 ACHT25C




pnn pmn | minay | poy miy mly | b2y IX DD | NTP0IR [ 0Ip
70U [ amam | ToNm | mpnn | mpnn nmp ‘70N [ayn mpna | 79n91 | Ny
nXp 1y omyn '2'DjP9X TNNXIND
D20 nTmn D" m
Cmin smin | tiix (Mm) | hef(Mm) | hpom | h1(mm) | hmin L (mm) Tinst | df(mm) | do (mm)
(mm) | (mm) (mm) (mm) (Nm)
5 45 M6 x 45 @8 ACHT8808C
41 41 30 39 45 100 10 9 8
20 60 M6x60@8 | ACHT8808L
5 60 M8x60@10 | ACHT8810C
54 54 40 51 60 100 20 12 10
27 80 M8x80@10 | ACHT8810L
5 70 M10x70@12 | ACHT8812C
65 65 48 65 75 100 35 14 12
32 100 M10x 100 @12 | ACHT8812L
5 80 M12x80@16 | ACHT8816C
74 74 55 70 80 110 50 18 16
37 110 M12x110@16 | ACHT8816L
97 97 15 72 92 105 145 110 140 22 20 M16 x 110 @20 | ACHT8820C
CH-8.8 E

pnn pnn | minay | poy oy iy |10 21y IX (5110]1 N W a1y ] 72 IR 161 17}
‘7am | a'7mam | TRNn mpnn | mpnn nImp ishils) [y mpnn | 7'9n92 nmp
nxp Ty omyn 2'DP7OX TNXIND
03N nTn 0’
Cmin Smin | tiix (mm) | hef(MM) [ hpom | h1(mm) | hmin L (mm) Tinst | df(mm) | do (mm)
(mm) | (mm) (mm) (mm) (Nm)
41 41 5 25 32 40 100 40 10 9 8 M6x40@8 | ACHT8808E
54 54 5 25 37 45 100 40 20 12 10 M8x40@10 | ACHT8810E
CH-PL
pnn pnn [ minay | poy miy poly | o2y | X DM | NTPWIR [ 0Ip
70D [ aYnam | TnNn | mpnn | mpnn nmp ishls} pyn mpnn | 79N | NIy
nxp Ty omiyn 2'Dj79X TNXID
020 nTn n'pm
Cmin Smin | tix (mm) | hef (Mm) [ hnom | h1(mm) | hmin L (mm) Tinst | df(mm) | do (mm)
(mm) (mm) (mm) (mm) (Nm)
5 45 M6 x45@8 | ACHTPLOSC
41 41 30 39 45 100 10 9 8
20 60 M6x60@8 | ACHTPLOSL
5 60 M8x60@10 | ACHTPL10C
54 54 40 51 60 100 20 12 10
27 80 M8x80@10 | ACHTPL10L
5 70 M10x 70 @12 | ACHTPL12C
65 65 48 65 75 100 35 14 12
32 100 M10x 100 @12 | ACHTPL12L




CH-PI

’ e

nn pnn [ minay | poy miy oy | paay | X DD | NTPLIR [ IR
0NM | ar7nam | TRNm | mpnn | mpnn nyp 700mn [yn mpnn | 79n91 | NIy
n¥pIY | DN albyla )Y TRYID
ran nn D’pn
Crmin Smin | tfix (Mm) | hef (Mm) | hnom | hi(mm) | hmin | L(mm) | Tinst | df(mm) | do(mm)
(mm) | (mm) (mm) (mm) (Nm)
5 45 M6 x 45 @8 ACHTPI08C
41 41 30 39 45 100 10 9 8
20 60 M6 x 60 @8 ACHTPIO8L
5 60 M8 x 60 @10 ACHTPI10C
54 54 40 51 60 100 20 12 10
27 80 M8 x80@10 ACHTPIT0L
5 70 M10x70@12 | ACHTPI12C
65 65 48 65 75 100 35 14 12
32 100 M10x100@12 | ACHTPI12L
; CH-A2
-
pnn pnn [ minay | poy miy oy | paay | X [931s]1s B a7 2 TS 7 2 N 161 1)
‘7am | a'nam | TN mpnn | mpnn nImp rishils) [y mpnn | 7'9n92 nmp
PV | DN 1DH9X TRNID
0N T n’pn
Cmin Smin tfix (mm) | hef (mm) hnom h1 (mm) hmin L (mm) Tinst df (mm) | do (mm)
(mm) (mm) (mm) (mm) (Nm)
5 45 9 8 M6 x 45 @8 ACHTA208C
20 60 M6 x60@8 | ACHTA208L
41 41 30 39 45 100 10
5 45 " ) M6 x 45 @9 ACHTA209C
20 60 M6x60@9 | ACHTA209L
5 60 1 10 M8x60@10 | ACHTA210C
27 80 M8 x 80 @10 ACHTA210L
54 54 40 51 60 100 20
5 60 13 . M8 x 60 @11 ACHTA211C
27 80 M8x 80 @11 ACHTA211L
5 70 1 1 M10x70@12 | ACHTA212C
32 100 M10x100@12 | ACHTA212L
65 65 48 65 75 100 35
5 70 16 1 M10x70@14 | ACHTA214C
32 100 M10x 100 @14 | ACHTA214L
5 80 M12x80@16 | ACHTA216C
74 74 55 70 80 110 50 18 16
37 110 M12x110@16 | ACHTA216L
97 97 15 72 92 105 145 110 140 22 20 M16x 110 @20 | ACHTA220C




2]

CH-INB

_{“"
pnn pmn [ minay | poy miy mly | b2y NIX DD | NTP0IR [ 0Ip
70U [ amam | ToNm | mpnn | mpnn nmp ‘70N [ayn mpna | 79n91 | Ny
nXp 1y omyn '2'DjP9X TNNXIND
D20 nTmn D" m
Cmin smin | tiix (Mm) | hef(Mm) | hpom | h1(mm) | hmin L (mm) Tinst | df(mm) | do (mm)
(mm) (mm) (mm) (mm) (Nm)
5 45 M6 x 45 @8 ACHINBO8C
41 41 30 39 45 100 10 9 8
20 60 M6 x 60 @8 ACHINBOSL
5 60 M8x60@10 | ACHINB10C
54 54 40 51 60 100 20 12 10
27 80 M8x80@10 | ACHINB1OL
CH-INN
pnn pmn | minay | poy oy iy |10 21y IX pDIRN | NTP0R | 0P
‘70om | a'7mam | TRNn mpnn | mpnn nmp ishils) [ayn mpnn | 7'9n92 nImp
nxp Ty omyn 2'DPPOX TNXID
03N nTn n’pn
Cmin Smin | tiix (mm) | hef(MM) [ hpom | h1(mm) | hmin L (mm) Tinst | df (mm) | do (mm)
(mm) (mm) (mm) (mm) (Nm)
5 45 M6x45@8 | ACHINNOSC
41 41 30 39 45 100 10 9 8
20 60 M6x60@8 | ACHINNOSL
5 60 M8x60@10 | ACHINN10C
54 54 40 51 60 100 20 12 10
27 80 M8x80@10 | ACHINNTOL
CH-GA
CA=—=
- = ;
pnn pnn | minay | poy iy iy |02 21y 1IX pDIPN | NTP0R | oI
‘700m | a'7mam | TRNIn mpnn | mpnn nmp ishils) [ayn mpnn | 7'9n92 nmp
nxp Ty omyn 2'DPOX TNXIND
1020 nTn n’pn
Cmin smin | tix (Mmm) | hef(mMm) | hpom | h1(mm) | hmin L (mm) Tinst | df(mm) | do (mm)
(mm) | (mm) (mm) (mm) (Nm)
45 9 8 M6 x 45 @8 ACHGO08C
41 41 35 44 50 100 10
45 10 9 M6 x 45 @9 ACHG09C
60 12 10 M8 x 60 @10 ACHG10C
54 54 45 56 65 100 20
- 60 13 11 M8 x 60 @11 ACHG11C
70 14 12 M10x70@12 | ACHG12C
65 65 53 70 80 100 35
70 16 14 M10x70@14 | ACHG14C
74 74 60 75 85 110 80 50 18 16 M12x80@16 | ACHG16C




pnn pmn | minay | poy mly mly | b2y IX DD | NTP0IR [ 0Ip
0D [ aYnam | ToNn | mpnn | mpnn nmp ‘700m [ayn mpnn | 79n9a | N
nxp 1y oyn 2'DPOX TNXIND
2N nTn Dm
Cmin Smin | tfix (Mm) [ hef(Mm) [ hnom | h1(mm) | hmin L (mm) Tinst | df(mm) | do (mm)
(mm) (mm) (mm) (mm) (Nm)
45 9 8 M6 x 45 @8 ACHA08C
41 41 35 44 50 100 10
45 10 9 M6 x 45 @9 ACHA09C
60 12 10 M8 x 60 @10 ACHA10C
54 54 45 56 65 100 20
- 60 13 11 M8 x 60 @11 ACHA11C
70 14 12 M10x70@12 | ACHA12C
65 65 53 70 80 100 35
70 16 14 M10x70@14 | ACHA14C
74 74 60 75 85 110 80 50 18 16 M12x80@16 | ACHA16C
CH-GF
7/
pnn pmn | minay | poy iy oy |ID2 121y TIX [5)1s]1 I W o rvJn ] 72 IR 161 17}
‘70am - | a'7nam | TRNn mpnn | mpnn nmp ‘7nam [ayn mpnn | 79n92 nmp
nxp Ty oyn 2'DPOX TRXIND
(1520 nTn n"pn
Cmin Smin | tfix (Mm) [ hef(Mm) [ hnom | h1(mm) | hmin L (mm) Tinst | df(mm) | do (mm)
(mm) | (mm) (mm) (mm) (Nm)
41 41 35 44 50 100 45 10 9 8 M6x45@8 | ACHGFO08C
54 54 - 45 56 65 100 60 20 12 10 M8x60@10 | ACHGFO10C
65 65 53 70 80 100 70 35 14 12 M10x70@12 | ACHGFO12C
CH-AF
Ot
pnn pmn | minay | poy mly poly | ppaay | X DD | NTP0R [ 0Ip
0D [ aYnam | ToNn | mpnn | mpnn nmp ‘700 [ayn mpnn | 79n91 | nmp
nxp 1y oyn 2'DPOX TNXIND
2N nTn D m
Cmin Smin | tfix (Mm) [ hef(Mm) | hnom | h1(mm) | hmin L (mm) Tinst | df(mm) | do (mm)
(mm) (mm) (mm) (mm) (Nm)
41 41 35 44 50 100 45 10 9 8 M6 x 45 @8 ACHAFO08C
54 54 - 45 56 65 100 60 20 12 10 M8x60@10 | ACHAFO10C
65 65 53 70 80 100 70 35 14 12 M10x70@12 | ACHAFO12C




CH-GF A2

pnn pmn [ minay | poy miy mly | b2y NIX DD | NTP0IR [ 0Ip
70U [ amam | ToNm | mpnn | mpnn nmp ‘70N [ayn mpna | 79n91 | Ny
nXp 1y omyn '2'DjP9X TNNXIND
D20 nTmn D" m
Cmin smin | tiix (Mm) | hef(Mm) | hpom | h1(mm) | hmin L (mm) Tinst | df(mm) | do (mm)
(mm) (mm) (mm) (mm) (Nm)
41 41 35 44 50 100 45 10 9 8 M6 x 45 @8 ACHGA208C
54 54 = 45 56 65 100 60 20 12 10 M8x60@10 | ACHGA210C
65 65 53 70 80 100 70 35 14 12 M10x 70 @12 | ACHGA212C
CH-AF A2
@ *'
pnn pmn | minay | poy oy iy |10 21y IX DN | TP | 0Ip
‘7om | a'7mam | TRNn mpnn | mpnn nmp ishils) [ayn mpnn | 7'9n92 nmp
nxp Ty omyn 2'DP7OX TNXIND
02N nTn 0’
Cmin Smin | tiix (mm) | hef(MM) [ hpom | h1(mm) | hmin L (mm) Tinst | df(mm) | do (mm)
(mm) | (mm) (mm) (mm) (Nm)
41 41 35 44 50 100 45 10 9 8 M6 x45@8 | ACHAA208C
54 54 = 45 56 65 100 60 20 12 10 M8x60@10 | ACHAA210C
65 65 53 70 80 100 70 35 14 12 M10x70@12 | ACHAA212C
CH-ES
] .
pnn pnn | minay | poy oy iy |10 21y 1IX (5315]1 ] W 1y ] 72 IR 161 17}
‘700m | a'7mam | TRNIn mpnn | mpnn nmp ishils) [ayn mpnn | 7'9N92 nmp
nxp Ty omyn 2'DPOX TNXIND
1020 nTn n’pn
Cmin smin | tix (Mmm) | hef(Mm) | hpom | h1(mm) | hmin L (mm) Tinst | df(mm) | do (mm)
(mm) | (mm) (mm) (mm) (Nm)
5 45 9 8 M6 x 45 @8 ACHEO08C
41 41 30 39 45 100 10
5 45 10 9 M6 x 45 @9 ACHE09C
5 60 - 0 M8 x 60 @10 ACHE10C
27 80 M8 x 80 @10 ACHE10L
54 54 40 51 60 100 20
5 60 3 » M8 x 60 @11 ACHE11C
27 80 M8 x 80 @11 ACHE11L
5 70 " - M10x70@12 | ACHE12C
32 100 M10x100@12 | ACHE12L
65 65 48 65 75 100 35
5 70 6 ” M10x70@14 | ACHE14C
32 100 M10x100@14 | ACHE14L




pnn pmn | minay | poy mly poly | ppaay | X DD | NTP0IR [ 0Ip

0D [ aYnam | ToNn | mpnn | mpnn nmp ‘700m [ayn mpnn | 79n9a | N

nxp 1y oyn 2'DPOX TNXIND

2N nTn Dm
Cmin Smin | tfix (Mm) [ hef(Mm) [ hnom | h1(mm) | hmin L (mm) Tinst | df(mm) | do (mm)

(mm) (mm) (mm) (mm) (Nm)
41 41 40 51 60 100 115 20 12 10 M8x115@10 | ACHGE10
54 54 48 65 75 100 135 35 14 12 M10x135@12 | ACHGE12

054-7976110 n”y2a D'TX N1AN 0TINAN'7 NNBY7 X2 ,N9011 n'7XVY '772




